
Unit 1- MCC4.NBT'3

-

MCC4.NBT.3 Use place vaiue r.rnderstanding to round multidigit whoie nutnbers to an-v* place'

\-
In other words,..i can "rountl" or estimate any multi-digit nurnber b-v* fmding the

- . :l

&eeres1 te* (1S, ?S-.3{}, 4*, et*.); the c€arest hmdred (1(}S, 20S, 3S*, ctc.); noare$t

th*r:sand {1***, 2*,**, 30**, 40*S,,,**. ,}'find s.o on a numbsr is cX$s*s{ {4"

3Y1 is el*s*s€ fe 4{}* 9,*59 *x skx*cxt to *SBS ' ''* &,SSX Is ***gsst'tS { S'**S

I c*r* il$* e nllmber line t* F**ip nre fi$t*r* m*t which ten, hun*red,, tha*snnd, t*n*
thousand, etc" is clasest ?s my *txv'fiber.

Example: R*xnd3,727 tq:r the ::earcsi 1,*&(}

And *9 **u,rs*, ther* are *ffiei*{,,rulss'{usi:lg p*ace valu*} t* f*}l*w to {igtxre *xt
wl'xlef* ten, hxndred, thsus&nd. te*-thc*s&*d, etc. my nurnber'ts e-tq:e*!lq,

1, Circl* the digit il the plaee that y*u &re rounding to"

2"Under1ingthedigiti*:.theB.},ac*.tr:.thoright*f.!h?eirc}.*d.digit'.....
3. If the qilrdfflined digit is 4 *r iess- the efrcled.digi* $tays the sarne.

4, ffthe underlined Oi[it is 5 or more, the circled digit increases (gets bigger] b!
one.

$. Write & z*ro fcr *v*ry pl*ce vr*ius'{as,p}aeeholders}after the rounded digit.

trxa**ple: Raxnd 5*,92$,:a t&* rx*ere*t 3*r$,S,S . . .-t' ': .

t&9AS rhe digit !n the piace tothe right of the

number * a*': rounding is 4 or less, s* the circled numlter
stays tfle same and all of the other place values change to
zero.

' I ' 54,935 ruunds t<> SS,000

X *ls*,kwr#...,h*lv t*.nse these nrl*s,t* rs$$d ic & "srfiall,er" Bla**, vah** ittside a
targe number.

€xamslel.$e*xd SS? t*{hs nearast tr* '

ffi ffre digit in the ptace to the rlght of the

Erumb*r I anrr rsundi:'lg is 4 cr l*ss, so the circled
num,ber stxystFi* same and *ll *f th* $ther
place values change to zero.

852 ros:rds te S$S

*){anr$ler *aund Sqr$*St*.tlte xeaves* l,S$0

4$rgZS rhe digit in the place to the right of the

numbsr I arn rounding is 5 er rn*ft, s* | wi$ change the
circled number to one more and change allthe other place

values to zero.

54,925 rounds to 55,000

Exa*xpte.: *aund *5? tc the na*r*st lSF

The digit in the place to the

rlght of the nurnher I am lounding is 5

or more, so I will change the circled
numbsr to sn€ mnre *nd change altth*
other place values to zero.

E$? rounds'ts $SS



AN**$"".f }cxl<:lxF how tc lrsr "r**xatding" to **lve math pr*hlems when I el*n't need an
exact answsr.
F*r *xcsmp{e: The teachers kr 3'd, 4.rh, a*d 5!h gra** want te g*r *n a {i*Jci trip tc th* S*ience
Muscr.rm. Ther* are tr &5 stride::fis i:: 3'd gr"ad*, ??8 st*d*r"rls i:r 4tt' grad*, arad I 39 st*dents in 5tr'

grade. Figure out about how nrany rickers the teachers should be |repa.'cd to hri3r. Round ro fie
nearest huridrcd and the nearest len lc see which estimate is tire better one, Explain your answcr.

1. I *se l::3r "r*u*ding" rules {* f:gur* oul ea*h grad* }*v*l {* the *ear*st fuune1rce}:

3'd grade tras.jj5 which rar-rnds to 20fi
* 4'\ gratle hasff]8 r,vhich rounds to 200
* 5'r'grade hr:sltJQ wlrich rounc{s to 100

Wlier: I adJall c,f iheie l"runclreds togcilrer'. I get 5i]0. -fhc cstiniatc is 500 tickcts,

2. 1, *,atz aLsc "r**n*i" t* th* n*ar*st len t* Iigure *ug h*lv ir1ar:Jr tri*llets t.he teaehers ae*d:
.3'e grad* has iffi whicl: ruund: to I ?*

- 41h gt'*c{e has ffi""Nhitj: rcunds 1o 23*
- 5*'grad* h.as ffi p,*i*h r*xnd* to 140

When i ad* all erftlte hu:tdr*d* lr:geth*r- I g*t 4**. When I acid *Llth* {ens t*geth*r,I g*t
l6 i*xs +r 16*" 400 -r t60 is 560. ?h* esiimsre * 3** $ckets.
f yhizzk r*2,:rt*ltre g t* tlra ru**r*s{ t*n.fbr *yt estitnttct{* o{ 56f is tlts betfsr Grrsw€r bs**Ets* ir is
*f*ser {rs f?s* €x{tc{ n*w*er tfu* re*cfesr.s fiseC. ?o{*w {.lt*p have s &*tt*r ide.a r$-lz*w zruuth *?CIni:})
thc.t,will neecl ta fury, tht f ickels

Some new .frath words I am using with this standard i somz of rhese are review yysrds

R.ound - to replace a number 1ryith one that tells obottt trow much or how many'

e.qtle{*}g ,lrB * clz*znging tf,z* nurnb*r,you sre r*sndi::g in a*y place v;1l6e
biggqr" as long as th* nu$lberto &e right *f it is S crrncrc.

&qq.xtdixg {oryq - kespSryX t&e number you are ra:ffidiag ia any pla*e value J&q
s&w€ as lang as the n$:xbsr tc the right of it is 4 *r less.

to "oyre

* Y** r*n hclp y*ur child *y asking her/him fo s*lve pr*blen:e *sing es?irnation or
"rounding".

$S*4. Ab**? how m*;*h ry\*W hcs *rir f*mily *V*nrt sn *lec?ri xity <*v*r tha l**t t*r**
ttr*r:tii*? 224--*-b 7.0*, X&7 ".*> 3** , *xd 3*2 *--ro 3**. Ad*iugall *f ?lt**t*ndr*d* giv*s
me 2AA + 300 + 3AQ = 800. Our fqmily spant obout $S00 an alectricity ovan ?he lsst three
r**nflr*. {arr*ef - d*n'f f*rget f* sltuf the ligtzts w*e* yox le*t * * r***l

* Y*zs ra* h*,4y y**r child by ,h*vi*g hixlh*r pr*ctiea r*xndirrg dif f er** piace values
l*rga rzxmb*rs" i-'{*va yorr child use cll the str*t xgi*s sk*lhe ie*rn* fr*rn his/h*r ,

teacher,

t! \


